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Topic 1, Volume A
 

Select the valid customer defined Message Stement:
 
 
 
A. MESSAGE Y123. 
B. MESSAGE E123 (9999). 
C. MESSAGE ID 'AT' TYPE 'S' NUMBER 100 
D. MESSAGE E123 by Fielda Fieldb 
 

Answer: C

 

 

What happens when a 1 to many relationship is encountered with an inner Join
 
 
 
A. redundant da is not returned to the resulnt set 
B. redundant da from the outer table is included 
C. run time error 
D. redundant da from the inner table is included 
 

Answer: B

 

 

What must be assigned to help parameters?
 
 
 
A. da element 
B. domain 
C. values 
D. nothing 
 

Answer: A
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What is conined in the system variable sy-Linsz?
 
 
 
A. row count of the current line 
B. height of the current line 
C. width of the current line 
D. size of vertical bars in your list 
 

Answer: C

 

 

Identify the line number that will cause the break for at NEW CONNECTION?
 
 

 
 
 
A. All rows will cause a break 
B. 20 
C. 30 
D. NO rows will cause a break 
 

Answer: C

 

 

On what line does the output ‘AAAA’ appear in the following code?
 
 

Question No : 4  - (Topic 1)
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A. 9 
B. 2 
C. 1 
D. 10 
 

Answer: B

 

 

What determines if a table is a client specific versus client independent?
 
 
 
A. The first field is mandt with a external da type 
B. CLNT and specified as a key field 
C. Depends how Basis has configured the client 
D. The option 'Client Specified' is added to the Select stement The first field is mandt with a
domain CLNT but not specified as a key field 
 

Answer: A

 

 

What is true about the primary index of table?
 
 
(More than one answer is correct)
 
 
 
A. The primary index is automatically created when the table is activated 
B. The key fields of the table make up the primary index  
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C. The primary index ID is designated by the Dabase Administrator  
D. The developer designates the fields to be used as the primary index 
 

Answer: A,B

 

 

Default page headings are created on which type of list?
 
 
 
A. All lists 
B. Basic 
C. Secondary 
 

Answer: B

 

 

Identify the dictionary type of field calog used for the ALV control?
 
 
 
A. Fieldcat 
B. Calog 
C. alv_calog 
D. lcv_t_fcat 
 

Answer: B

 

 

Program A issues the following stement SUBMIT PROGRAM B. what kes place
 
 
 
A. Program A becomes active in the same internal session of Program B 
B. Program B becomes active in the same internal session of Program A 
C. User Context is flushed 
D. Program B runs in a new internal session 
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Answer: D

 

 

What are valid methods for including text elements in your program?
 
 
(More than one answer is correct)
 
 
 
A. Write: 'Hello'(001) 
B. Write: TEXT-001 
C. Write: 001(Hello) 
D. Write: TEXT-001'Hello' 
 

Answer: A,B

 

 

Refer to the following. If there are no entries in my-b what is the result?
 
 

 
 
 
A. Run time error 
B. All entries are retrieved 
C. Only distinct values for key1 
D. No entries are retrieved 
 

Answer: B

 

 

When writing a list, what command would allow you to overwrite a line?
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A. Back 
B. Overtype 
C. Reserve 
D. Write:/ 1 
 

Answer: A

 

 

What condition apply for a left outer join in open SQL?
 
 
 
A. Only 'Or' can be used as a logical operator in the ON condition  
B. A Left Outer Join is not permitted in OPEN SQL 
C. A join stement is found to the right of the join operator 
D. At least one field form the table on the right is required for comparison in the ON
condition 
 

Answer: D

 

 

What does a LDB provide?
 
 
(More than one answer is correct)
 
 
 
A. Consistent and flexible user interface 
B. A method to access the da in a random manner 
C. Centrally defined authorization checks 
D. Central performance improvements for update accesses 
 

Answer: A,D

 

 

What is needed to ensure a check field is verified against the referred key field of the check
table? 
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A. same da type only is required for check field and referenced field 
B. all key fields MUST have domain equality between check table and foreign key table 
C. same domain is required for check field and referenced field 
D. same da element is required for check field and referenced field 
 

Answer: C

 

 

Select example of organizational da?
 
 
 
A. Sales Order 
B. Country Keys 
C. Cost Centres 
D. Vendors 
 

Answer: B

 

 

Identify the valid attributes of domain?
 
 
(More than one answer is correct)
 
 
 
A. Header 
B. Label 
C. Length 
D. Fixed Values 
E. Type 
 

Answer: C,D,E

 

 

For called program component that are of type transaction or report, what is true about the
roll area (assuming processing will resume in the calling program).
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A. Share the same roll area 
B. They run in their own roll area 
C. They run in the roll area of the caller 
 

Answer: B

 

 

What are the main functions of the da dictionary?
 
 
 
(More than one answer is correct)
 
 
 
A. To insulate the ABAP/4 developer from the dabase  
B. To provide da security at the application level 
C. To connect to the operating system 
D. To support the creation and management of meda 
 

Answer: A,D

 

 

What is true about SAP query?
 
 
 
A. Users can access only the fields which are assigned to a functional group 
B. A user master record is generated when the query is defined 
C. SAP user can be assigned to only one user groups 
D. Functional Area can be a special view of a logical dabase 
 

Answer: C

 

 

Programs that extends beyond transaction limits and want to pass da should use:
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A. SAP Memory 
B. tables 
C. ABAP/4 memory 
 

Answer: A

 

 

Which of the following is an invalid method for populating an internal table?
 
 
 
A. Insert IB 
B. Append 
C. Read table IB 
D. Select into table IB from dbb. 
E. Collect 
 

Answer: C

 

 

Identify the clause that is used in suppress sndard headers?
 
 
 
A. No Sndard Heading 
B. No Sndard Page Heading 
C. Suppress Sndard 
D. System>List>Save 
 

Answer: B

 

 

What appears in the sndard header of list?
 
 
(More than one answer is correct)
 
 

Question No : 24  - (Topic 1)

Question No : 25  - (Topic 1)

Question No : 26  - (Topic 1)

SAP C-TAW12-70 : Practice Test

10
http://www.maitiku.com QQ:860424807

http://www.maitiku.com
http://www.maitiku.com

